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Parenting style in which parents give appropriate autonomy to
the child

1. Authoritative
2. Permissive
3. Authoritarian
4, Uninvolved
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Learning takes place from
1. 1 to 25 years

2. Conception to death
3. Birth to Death

4, 3 to 18 years
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Threatening is a

1.
2.
3.
4,

Mental Abuse
Physical Abuse
Sexual Abuse

Financial Abuse
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Self-resources among the following

1.
2.
3.
4.

Residential area & Economic condition
Nature & News papers
Computer & Internet

Intelligence & Thinking
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Implementation of Midday meal programme is to satisfy
1. Social needs of the children

2. Primary needs of the children

3. Secondary needs of the children

4. Psychological needs of the children
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‘Object Permanence’ appears at this stage
Pre — operational stage
Sensory motor stage

Concrete operational stage
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Formal operational stage
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Educational Programme in AP ‘LIP’ stands for

1. Literacy Improvement Programme

2. Learning Improvement Programme
3. Language Improvement Programme
4. Leadership Improvement Programme
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Which of the following come by inheritance and developed
through training

1. Attitudes
2. Traits

3. Aptitudes
4. Habits
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10.

To facilitate conceptualization among students, the teacher
should

Encourage rote memorization
Give importance to Direct experiences

Rely only on Lecturer method of teaching
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Not Include examples in the discussions
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Intelligence theory proposed by E.L. Thorndike
I. Group factor theory

2. Uni factor theory

3. Two factor theory

4. Multi factor theory
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Asking the state ranker student to share his experiences and

thoughts comes under

1.
2.
3.
4.

Introspection Method
Survey Method

Case Study Method
Experimental Method
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ICT - means

1. Internet and computer technology

2. Information and computer technology
3. Internet and communication technology
4. Information and communication technology
ICT eosme
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The defense mechanism in which we justify what we do is

1. Projection

2. Rationalization
3. Identification
4. Displacement
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Experiential Learning through activities takes place in

1. Subject centered paradigm
2. Teacher centered paradigm
3. Learner centered paradigm
4. Classroom centered paradigm
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Responding & Valuing are related to this domain
I. Psychomotor Domain

2. Cognitive Domain

3. Educational Domain

4. Affective Domain
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Seeing a rope and fearing it as snake is

1. [usion

2. Deja Vu

3. Hallucination

4. Fantacy
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18.

Socially critical situation faced by School age children

1.
2.
3.
4.
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Autonomy Vs Doubt

Initiative Vs Guilt

Industry Vs Inferiority

Role Identity Vs Role confusion
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Vygotsky’s learning theory is also called as

1
2
3
4.
3

1.

L

Cognitive learning theory
Insightful Learning theory
Observational learning theory

Constructivist Learning theory
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Formulation of instructional objectives takes place
in this phase

1. Post active phase

2. Interactive phase

3. Pre active phase

4. Learner active phase
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A person well versed in type writing doing DTP work on
computer. Here the transfer of learning is

1. Negative transfer

2. Positive transfer

3. Zero transfer

4, Bilateral transfer
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As per skinner children learn language through
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Imitation & Reinforcement
Observation & Imitation
Innate ability

Observation & Reinforcement
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The way the Drivers response to traffic signals is an

example of

1. Law of Generalization

2. Law of Extinction

3. Law of Effect

4. Law of Discrimination
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25.

Primary goal of ‘Open Educational Resources’

1.
2.
3.
4.
DS
1.

L

To generate money for Educational institutions
To Promote exclusivity in education
To restrict access to learning resources

To provide free and accessible educational Material
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As per Kohen, percentage of learning through vision is
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Projective test among the following

1.
2.
3.
4.

Personality Inventions

Raven’s Standard Progressive Matrices
Case study

Thematic Apperception Test
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27.

These are considered as ‘Educable Mentally Retarded”

1.
2.
3.
4.

Moderate Mental Retarded
Mild Mental Retarded
Severe Mental Retarded
Profound Mental Retarded

DB “Ae5g Iy SSVE IFeroren” m HBRE3T

1.

Programmed Learning is the product of this following theory
1.
2.
3.
4.
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Classical Conditioning
Operant Conditioning
Trail and Error learning

Insightful Learning
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29.

Assessment used to improve students performance is

1.
2.
3.
4.

Assessment of Learning
Assessment by Learning
Assessment for Learning

Assessment as Learning
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At first the child used whole hand to hold the thing. Later he
could hold by his fingers. Here, the Development principle is

1.

2
3.
4

Principle of individual difference
Principle of uniformity of pattern
Principle of Proceeding from general to specific

Principle of continuity
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30.

Scientist who experimented on memory

1.

> wbn

Sigmund Freud
E.L. Thorndike
W.B. Watson
Ebbinghaus

BPIR BEETes BIS TIIY

1.

L

DKYOE (Fron&
3.5, T°EIGE
W.B. &30
EOOR TR



31.

32.

SET -5
Telugu

WOEATS TP JPessen F 85 Erdsueod), eTrandd
BYESS SPOSCHSogR! JBNK IS ¢S Beaod
Bogist S F 5 B o> ST HoFSSTE @
SET KOm00) O Hess0z doromd 5a9S0) OIS

2 Do A58 1) $8050HY)

1 KOSV
2. P00
3. éa%:sdx@
4. J208

QOEATS O° Jressen JF &S Er9seod), eTeandd
BYESE SPOSCHSgR! DEPK DS ¢S Beaod
DogeEse S B 5 B oo S HoFSSTE @
SER KOT00 TP HesEow a50K020 250y OIS

R D550 20F0H0S” IR HTIIDH?
1. )

2 5°0¢8

3. Koo

4. DR



33.

34.

35.

SRS o3 S50 HITY Hose. BoeS 12 LA
GINO0. BIYoEIN, ?@wﬁscsz)eaoe SOOI TP ANMIVISUIR AT
TES' FEBIEHHDO (HEICHINTOSIE ST 565
9 5E5:50 @OXS0MT WD FPe0°E ;5g:se§5 B0
RRGOSINOW BenKHS° oSy TPRSTE B!

D SSEHODETAITR) ST EE TG (SIFDERE.

1. S5ESen
£9
2. X)%.goésﬁaoen
3. BIrO0TCE [0
4. 8&5»‘&5?&6155

SRS et RS S550 HIS vogsSo. BoeS 12 ST
GINOW. BSYO e, S"J@G"b%a)ewe) S50 008555000 58
FES'D FPEBIEHHDO (HEIEHITOEIS SRS 3¢5
OIS EES WOKINT DD BP0 SPIE® SoTe.
NREESINOT BIHS” 065 TRSITE ST

Qﬁeéo&gsa S00eH HITBHOPI0 TR oSO TP FrEd?

1. SR8
2 Glaley

3. P08
4 CelatlyClebl

“00B¥0” Frego¥ (P8

1. RS0
2. S
3. s:sbo
4.

a:ocss*’bago



36.

37.

38.

39.

‘S8R50 95 Do Slefe

1. 88¢e20
2. Sfelole)
3. R3°00
4. (Ds°go

‘cﬁoésﬁw’ 930 D :acrgoﬁo:oa"e»

1. DO, DD

2. BES, e85
3. {5, e
4, DB, D&

e35850" D3 3%@

1. (ETitele)
2. &350
3. &.AB0
4. &.50

BIS" DI T IGHT
1. Ho), BWOIN

DB, Dew)

80, Q’>J°K§o

L

2000, 2,63
o



40.

41.

42.

43.

53 (308 FIS° 22H3DH0 T
L 3535585

2. @683565(55
3. 38883
4. @305

&s50¢5¢38 2,583 Cﬁoéo)é%. Noerd?

1. S TebN)

2 O(BES0)
3. e35°50

4 S°ASB0

DRTS WOSFON ey I, B 3ES” IFea0

1. DJYEo

2. ZleTaTabIN
3. ST

4. >

Do §5%H AoWHIw’
2 >5508° &) D 9006
L 28

2 IS8 Y
3. DR s
4 DB



o’ JTPAE YHBATEE Do

1. TPA0EED
2. faxlesSINSTa$S)
3. ORI TerS)

4. OIS
VSIS wsmw

1.

;’g)vg DO°0 z‘i):r;)o
:65@0) QAO° z‘DZJ;)o
ear‘@crsg%

Ll

agse

808 >AS° Jegg DEIIT0 S

1. SISCINGY
2. 388

3. oo
4. 0D

$0d TS ExaEY Do S

1. e:9§2r
2. 20K

N
3. @55

4, Z)Bgé



48.

49.

50.

51.

808 >AS° aipgeo
1. &, &8, D, D,
2. K, 068
3. 5, 5,08, 8,9
4. %, 8, ©, 3

‘0335855 D506t 1Vod
1. 05888 $od
£9 o®

2. eaéos Slela)
3. e0des Hod
4. eéos ISlol®

“SR0¢5 + 57 [0 K80:508

1. 083308
2. e;aéosfoo@
SN SefalouSla
4. 53@&0@

DO BB @ BIFHO

1. @OSKJ V°D0

6550655 DI°00

25) SEWR BITR0

L

DR SEDHRA VIR0



S, 28, 2, e, 28, 28, 8 9 Keseen &) ?.’)(5?30
1. ééo)e);ﬁro

2. SONESre

3. Sodgsw

4. FETOSD
Q

‘T &8 & S& Sy
2 TE0S™ weosso

LSS

2. ©O0&TGOD
3. e8¥3r8
4. TI°DE

28 DO 2P HEOS - 30 O 550
1. w{)@§g§ J°§§o

(DFNZS 550

58585 550

= N

e:oéosioe‘é?sg§ J°§?So

PO D DO °J° B0OWEO0 ©
ergyen DIFEZBOH NG AT KHBOHE0 SIS

o)
1. noz,sy egéo
3):,5Q)e§ eagso
:65°§& e>§§o

L

(ogo eagso



56.

57.

58.

59.

oS FES FRepeold SaHsedSs
1. igoooé Q0N AT TY)ed
IRISEAR) SCBSTI TY)ed

508 B Jxasren S°PoHE

LN

S S8 BT, (FES D0

IBIS” HHEIEE DEB Toocses [BTI0DT EDed
L egberan 388 ¢

2. OTERS SIS

3. & Srop0 eddachy SWe

4. D2 PE 5w

qu*)r‘éag - (3989 &850 570
L S

2 S0’ Joreren

3. dEET G

L gy

2.8 0TS S) :62’5_&&?2)6551?" DPROWEY) ST
288, DB FPoTEAE ST TR (Perds

1L J°8E (VeT°VE
o
2. O (PETE
3. ¥H050mAES (PeT O
4 3"65@8’3”@§



60. 5D 2GRS Fo0eo q);%es’e E0HE DY T Sxeg0ES0

L Qoss

2. THEOS
3. B)sse

4.

e>§;§e§ &§



61.

62.

63.

64.

SET -5

ENGLISH
Sheela  (read) books regularly.
Choose the option that fits the blank.
l. reading
2. has reading
3. is read
4 reads
If he asked me, I him.
Choose the option that fits the blank.
1. will help
2 would help
3. would have helped
4 would helped

Choose the grammatically correct sentence from the following.

1.

2.
3.
4

I and he are twins.
I and my brother went to madras.
Ravi invited you and me to dinner.

Ravi invited me and you to dinner

Choose the common structure for a short poem.

1.

2
3.
4

introduction, body, conclusion
stanza or verse
plot, subplot, resolution

prologue, main chapters, epilogue



65.

66.

67.

68.

Choose the punctuation mark used at the end of a direct

question.

1. Full stop (.)

2 Comma (,)

3. Question mark (?)
4

Exclamation mark (!)

Choose the correct sequence of the words in which they appear

in the dictionary
A) Previous B) Prevent
1.

2
3.
4

D C

A B
C D
C B

A

D
B
A

C) Present D) Pressure
B

C
A
D

Select the following linker that shows time frame:

1.

2
3.
4

consequently
moreover

conversely

next

Identify the simple sentence:

1.

2
3.
4

I bought a red dress for her.

After I went to the store, I realized I forgot my wallet.

He likes to run, and he enjoys swimming.

When the cat was chasing the mouse, it leaped

gracefully.



69.

70.

71.

72.

“Several children played in the park.”

Identify the adjective in the sentence above.

1.

2
3.
4

several
park
played

children

“She is studying for her exams.”

Identify the helping verb in the sentence above.

1.

2
3.
4

is
studying
her

for

Choose the phrasal verb that means ‘to anticipate or be excited
about’.

1.

2.
3.
4

look out
look forward to
turn into

run into

Choose the following which is NOT a characteristic feature of
interrogative sentences.

1.

2.
3.
4

They typically begin with interrogative words.
They usually ask questions.
They end with an exclamation mark.

They seek information.



73.

74.

75.

76.

He remarked, “Two and two makes four.”

Choose the correct indirect speech for the sentence above.
1.

2
3.
4

Forty percent of the milk

He remarked that two and two makes four.
He remarked that two and two made four.
He remarked that two and two make four.

He suggested that two and two makes four.

morning.

Choose the correct verb that fits the blank.

1.

2.
3.
4

have
1s
has

was

Choose one word substitute for the expression

“A game in which no one wins.”

1
2
3.
4

abandoned
postponed
draw

obsolete

Choose the correctly spelt word.

1.

2
3.
4

Signeficance
Signifacance
Significence
Significance

been sold since the
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78.

79.

80.

The rains have heralded the arrival of some seasonal visitors —
a leopard, and several thousand leeches

Choose the synonym of the word ‘arrival’

l.

2
3.
4

departure
approach
exit

absence

“How happy and proud I shall be when we both have brought
our work on relatively to a victorious conclusion.”

Choose the antonym of the word ‘victorious’

1.

2
3.
4

successful
triumphant
defeated
jubilant

Intensive reading is also known as:

1.

2
3.
4

in-depth reading
invisible reading
introductory reading

in time reading

Identify a structural word from the following

1.

2.
3.
4

book
tiny
try
of



1.

82.

83.

Supplementary readers are meant for:

1.

2
3.
4

intensive reading
extensive reading
expensive reading

expertise reading

A Textbook should supplement

1.

2.
3.
4

the teacher’s hobbies
the teacher’s instruction
the student’s hobbies

the relationship between the teachers and the students.

Read the following passage

The moonlit path wound through the silent forest, casting eerie
shadows on the whispering trees. A lone owl hooted
mournfully in the distance, adding to the nocturnal symphony
of nature.

Select the correct statement based on the passage:

1.

The sun illuminated the forest, creating bright and
cheerful shadows.

The path was bustling with activity, filled with hikers
enjoying the moonlight.

The owl's hooting broke the silence of the daytime
forest.

The moonlight cast eerie shadows on the trees along the
path.
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85.

86.

Read the following passage

The moonlit path wound through the silent forest, casting eerie
shadows on the whispering trees. A lone owl hooted
mournfully in the distance, adding to the nocturnal symphony
of nature.

Choose the correct statement based on the passage:

l.
2.

The forest was devoid of any nocturnal creatures.

The moon was obscured by clouds, leaving the forest in
darkness.

The trees along the path were silent, with no movement
or sound.

The owl's hooting added to the serene atmosphere of
the forest.

The following is a method of teaching language through
commands:

1.

2.
3.
4

Total Physical Response
Dr. West’s New Method
Diversified Method
Bilingual Method

Some words become prominent in a particular piece of text,
but outside the text, they are not considered important. Such
words are called:

1.

2.
3.
4

Content vocabulary
Active vocabulary
Ad hoc vocabulary
Adjectival vocabulary



87.

88.

89.

90.

Itrained  the day.

Choose the word that fits the blank.
1. into

2 upon

3. throughout

4 from the above

Select the sentence that contains a main clause

l.

2.
3.
4

Because it was raining as it is raining.
Although she studied hard for the exam.
He ate dinner after he had finished his homework.

Walking along the beach, the seagulls soaring
overhead.

The modal verb ‘could’ is used to express

1.

2
3.
4

Past ability
Command
Instruction

Obligation

Select the correct statement about articles.

1.
2.
3.

Articles are used to replace nouns entirely.
‘A’ and ‘an’ are definite articles.

Articles help to clarify whether the noun being referred
to is specific or general in nature

Articles are always optional in English grammar.
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92.

SET -8
MATHEMATICS

In an orchid, there are 10 rows of mango trees and each row
contains 25 trees. Then the number of mango trees in the
orchid is

28 H0g S8 2.5 8 SWIH 25 ey TIPS 10 SHvE”
SrDE Bey S0, & S’ &) S8 By Dowg

l. 250
2. 25
3. 100
4. 10

84 tyres were put on cars. If each car needs 4 tyres,then the
number of cars would be fitted with 4 tyres is
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1. 31
2. 21
3. 84
4. 4
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95.

The multiplicative inverse of —1% is

T—
8
2___7
8
.
9
4 9
8

The smallest number by which 9408 must be divided, so that
the quotient is a perfect square

9408 D 9 I3 VOPFI WPAOVIIPE &TANHOO HOY*Y $KO
9 0R.
2

1

2. 3
3. 7
4 1

The cube root of 175616
175616 o?m§b_ 05 527°0

1. 56
2. 48
3. 36
4. 24
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97.

98.

The ratio of the 30 minutes to I%hours 1s

30 D3pen, %zﬁomé Ko 98

1
2
3.
4

1:5
5:1
1:3
3:1

1.
Convert 3 into percent

%53 F305°8 SRS

1.
2.
3.

4,

A fan was purchased for ¥ 750 including GST of 20%. The

33%
100%
30%

33104
3

price of the fan before GST was added is

28 bvgso 20% GST &° €82 T750% 8 5053523&0&.
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< 600
615
3 625
% 650



99.

100.

101.

A T-shirt bought for ¥ 120 is sold at ¥ 100. The percentage
of loss is

2.8 8-25% T120 § 1000 008 53) Sy F=So.

L 162%
2
2 162%
2
3. 162%
2
4 162%
3

. . 1 . . . 1
Naina was given lapleces of cake and Najma was given 25

pieces of cake. Total cake given to both of them

1 1
T 1 B Sy, Sy 25§§3 S8y T, 3508
30)S 3H JoBo

5
4
3
2

b=

The heights of 10 girls were measured in cm and the results
are as follows:

135, 150, 139, 128, 151, 132, 146, 149, 143, 141. The number
of girls taller more than the mean height

10 508 2750 IO 0.W.08° T T HOCKM
2O (§oBIFoM &INow.

135, 150, 139, 128, 151, 132, 146, 149, 143, 141. BxXex I
5085 JW)S By SOR ) o0 VoY

7

b=

5
6
9



102. The length and the breadth of a rectangle are 6 cm and 4 cm
respectively. Then the perimeter is

l. 20cm
2. 16cm
3. 22cm
4. 18cm

28 555» BEBR DEY 6 0. S8 ey 4 20.9.
IOV TP ﬁoeaeg?eé

1. 200.2.
2. 16 20.20.
3. 220.2.
4, 18 20.20.

103. The angle between the minutes hand and the hours hand in the
clock at 6AM is

&E5050 6 K0&e% KEATEOS'D DT 5000y $BC5H
Hoto Swey [ &0

1 30°
2 90°
3. 60°
4 180°



104.

105.

If two cubes of dimensions 2 cm by 2 cm by 2 cm are placed
side by side. The length of the resulting Cuboid is

I. 4cm
2. 2cm
3. 8cm
4. Icm

2 0.2, 2 0.2, 2 0.0 Sodenr Ko Bow ey DY)
PG &oB OGS égmso P&

1. 4 20.2.
2. 20..
3. 8 20.2.
4. 1 0.2.

If two angles are complementary, the sum of their measures is

o §eren Yoo Eeren @ond, e Sero 080

1 180°
2 360°
3. 60°
4 90°



106.

107.

108.

P is principle, R is rate of interest and N is time period, then
amount when interest is compounded half yearly

P-esiden, R-36060 50650 N-5°0 3550 ons of
ROSHBINSE 2538 3§ B 0DT ey I

PNR
100

The volume of a rectangular box with 2p, 4q and 8r of length,
breadth and height respectively

e, w0y, IS0 SEHRT 2p, 4q, 8r SOAS Y T
D& BooE), S HBSTe0

1. 2p+4q+8r

2. 8r—2p+49

3. 2px4gx8r
4, 8r
2p.4q

Divide 24 (x2 yz+xy'z+xyz’ ) by 8xyz

24 (Pyz+xy’z+xy2 ) 8xyz &° erRoSH
1. 3(x2 +y+ z)

2 3(x+y+2)

3. 3(x+y-2z)

o 3eyo)



109.

110.

111.

The value of 3.61492 X 10° is
3.61492 X 10° ciooéb_ BTSN

.

36.1492
361.492
3614.92
3.61492

The value of 2—8x+4x+4at x=3is

x:335g 2—-8x+4x+4 O._")JJ§ZJ_ BISUIN

1.

el

—4
-6
8
3

The value of 3 kilograms in milligrams

1.
2.
3.
4.

30,000 mg
3,00,000 mg
30,00,000 mg
3,00.00,000 mg

3 4.0 W rEnod’AE 578y

1.
2.
3.

30,000 Q..
3,00,00020.7.
30,00,0002.{7v.
3,00.00,0002.{7%.



112. The value of 1 hour 10 minutes 12 seconds in seconds

113.

1. 3762 seconds
2. 4212 seconds
3. 3267 seconds
4. 3072 seconds
1 0e> 10 Ao 12 DEFD, DFS$ 570)S

1. 376228
(32
2. 4212250
(3p]
3. 3267 D5
(32
4. 307228
(3p]

A godown is in the form of a Cuboid of measures
15mx 12mx 10m . The number of Cuboidal boxes that can be
stored in it,if the volume of each box is 18m’

&8 K& 15mx12mx10m Fodes Ko BY 3050 508
DoB. 2.8 Y, BYHOSO DB S DOITe0 18m’ wond
90850S° SoSKe ?,.@@ 60@5

1 100
2 50
3. 200
4 110



114. The radius of a circular pipe is 14cm. The length of a tape
required to wrap around the pipe one time is

l. l4cm
2. 7cm

3. 88 cm
4. 44 cm

SYTEE Py Book), TgEIw 14 0.0, PR T 250
TS WSVTK 8 FEI

1. 14 20.%.

2. 7 20.%.

3. 88 20.2.

4, 44 250.9.
METHODOLOGY

115. The relation between different branches of Mathematics like
Arithmetic, Geometry, Algebra etc... is called

I. External correlation
2. Internal correlation
3. Evaluation

4. Accuracy

Ke3B0S° A PSS ©osKedIS0, T3S0,
DesKedS0 I T $E§He 9020650

1 (V4 N ey Ve

>~ W N
g
9
o
&(



116. Mathematical thinking in children develops internal powers
such as mathematical reasoning arriving at logical
conclusions, and understanding abstraction. This value is

117.

called
1.
2.
3.
4.

Narrow value
Higher value
Professional value

Socialogical values

208" K3SHEPS eSS, KBGO IISS, O
ABeathy oS0, wmrgand) wdo JnESEo Soed
SOBYS FHOMH WHIB ToB0B. 3B ITEHS Jeos

1.
2.
3.
4.

LOBINVG JeS
é@é ARV D
SBRES dewss
FPOE JeNVS

The rule of the understanding the relationships between
various mathematics concepts by making connections based
on common characteristics or process, follows certain rule

1.

2.
3.
4

Method of Analogy
Law of continuity
Insight learning

Principle of Association

I8 HedoroTen B arSSOM o8 66 0580 Sor &8
(BIE0% Lo 50 T VOWOTY BIIERS BHEBEO

9% D00

1. 3"65"?.’35 Q350

2. @SJ&J@@ QA0
3. @Oédé&% {050
4. QDOVY AT:500



118. The objectives, which every teacher has to achieve by teaching
the subject in his classroom are called

1. Learning objectives

2. Teaching goals

3. Instructional objectives

4. Teaching values

(58 gt 33 SEKS KOS DAy 8R0S0

a0 @@ow@géfb

1. eaz;ﬁgbv OFg0
2. SO KSrgen
3. 565 oggeo

4. 5@ devseo

119. Every student must accomplish fully in a class are
1. Minimum levels of learning
2. Learning objects
3. Knowledge
4. Understanding
B8 dorg0 2.8 SEKD Bor 2.8 Aargrond voyrgon

bf’aow@)‘\)éﬁ)
1. €% 2350 Fanen
2. TG (PI7ET°R0
3. 23250
3
4. [EINTARON



120. The process that aids teachers in enhancing their teaching
efficiency and to evaluate students conceptual understanding
and practice during the teaching process is

1. Summative Assessment
2. Unit Test

3. Diagnostic Test

4, Formative Assessment

5B (HEAH 2D D05E)08” SEHI FE
SRTei) 20FoR0HE S5 DY ZSS VSIS,
F5S3 ABOSTON Q0D VAL es%go)a%a

1 QOIres B S 280
RS FESS H0F
S 5Aes DY

LN

Sm&wé &§ Nlalox))



121.

122.

SET 11
EVS

Rust of wheat is caused by

1. Fungi
2. Bacteria
3. Algae
4. Virus

R5505:8° %055 K0 EOR0TO

L 3dozs»

2. eriBase
e

3.  3Som»

4 8D

Metamorphosis in frogs is controlled by

1. Adrenalin

2 Estrogen

3. Thyroxine

4. Testosterone
50)0S° ErdEanss Aao@oBs

L @O

2. éak@wg
3. Bodyw
4. BIPYos



123. “Ursa major” is also called as

1. Big Dipper

2. Orion

3. Leo major

4. Cassiopeia

“e0%) 0287 Be PO T ©90erd.
1. X &6

2. 28001

3. OB oz

4. SP)BINAST

124. The gas produced when metals react with sodium hydroxide

1. Oxygen
2. Chlorine
3. Nitrogen

4. Hydrogen
&30, Féawo TEHE &° S5 FOBTYE )G A0

1. e.—sé(\)zss
2. &8s

3. g@'swé_
4. &%



125. The process of depositing a layer of zinc on iron
1. Hydrogenation
2. Crystalisation

3. Galvanisation

4. Rusting

330503 B0 FE IR0 VR (B8
L & 5880

2. bgé%éédeao

3. mexdsseo

4. SOy DéyEo

126. The process of conversion of water vapour into its liquid form

1. Evaporation
2. Condensation
3. Sedimentation
4. Decantation

D 398 (55 Tr0S°E 5550 (P&
L @St

2. JoBEseo
3. ©SZHEA0
4. 5&)‘)@



127. The birth place of river Krishna

1. Antarvedi

2. Hamsaladeevi

3. Nasikatrayambakam
4. Mahabaleswaram

§J% S8 &5&3;260

t—\

SLhTeNa

2 ROSRISTAN)

3. IS (F03002E0
4 ;53;’752063%360

128. In bees, “Waggle dance” is a type of

I. Tactile communication
2. Verbal communication
3. Visual communication
4, Chemical communication

SIS “THE SB0” ¥ SEWS
1. 9% 2,5°;5;5§_§D§683
59 2?5:55%;6&

&Y% 2,7°;5;5§_§D§683

L

EJasrs wsasg_égm



129. The tool used by mason in construction works
I. Spirit level
2. Bobbin
3. Needle
4. Soldering gun
55 o £908° @H(R &HETAOT D0y

1L (BSSo&0
2. DS
3. POOLTR

4, 8ok KS
o

130. Animals having sharp cutting teeth, strong grinding teeth and
canines are

1. Herbivores
2. Carnivores
3. Omnivores
4, Insectivores

IS §708 Sooren, 2OHS SWT Soaren $H865 VB
Sogren EOAS 80t Hen

1. FTOI8E0e0

2. SrodutEen
3. &P
4,  LososssHen



131.

132.

In plants water is transported through

1.

2.
3.
4

Xylem
Phloem
Stomata
Bark

v o8 IS saer HY O™ WK

1.

L

nlebIN)!

DAY g0
2 So(grew
leled)

“Marble Cancer” is caused due to

3

t_\

L

BN -

Nitrogen
CNG
Smog

Acid rain

56 S8 © sBeIRN0.

25@2350
CNG
PRSI0

330380
™ A



SET -8
SOCIAL STUDIES

133. “Arya Samaj’ was founded by

1. Swami Vivekananda

2. Raja Rammohan Roy

3. Swami Dayananda Saraswathi
4. Kandukuri Veeresalingam

‘@65 DSee30” & 5;;3305)5&

L g ddsesocs

oreg mﬁr&ﬁs oot
if"osiib A5T0LS DE(E

Lol

o558 DB¥®oKo

134. In India, National Consumers Day is celebrated on

1. November 24

2. December 24
3. January 24
4. February 24

PSS R¥0S° erHAH IIRBFHKTEH© &‘See‘.‘é(\)mi)o)
BEYHHI Sew

1. S5350258 24
&2o28 24
235558 24

Ll

22356 24



135.

136.

Indus people worshipped this God in the name of “Pashupathi”
1. Lord Siva

2. Lord Vishnu

3 Lord Krishna

4. Lord Rama

2O (Pen DHHY’ DHS® B8 BPED YrROBID

1. Nl

2 3):}%@
3. §Q:}%C§.>
4 O°s3008)

The book ‘Gulamgiri’ was written by

1. Savitribhai Phule

2. Raja Rammohan Roy
3. Ambedkar
4. Jyotirao Phule

TOTPoRY” YJHS°R) T°AIH
1. FABeran Jb
e ORI o
@025

Ll

5’35@5";@) RS,



137.

138.

Identify the mis matched pair

1.

2.
3.
4.

Abdul Razzaq - Devaraya-II

Harihara-I1
Ibn Battuta - Harihara-I

Domingo Paes

Nicolo Conti

Devaraya-II

DB WBSO K000w0ék

1.

Ll

w2 5§ - Asoross-11
EWOR® DR - 5e5es -1
00 28T - SeO5s-1

IES® so0ed - Bsorasy-11

‘The Kaaba’ is a building that related to

1.

2
3.
4

Christians
Hindus
Sikhs

Muslims

‘Soere’ 2555530 D8R %020080D358

1.

2
3.
4

Eyes
TPOLDHen
?o§azre>o

SO
™



139. The range of the Universe is

I. Stable

2. Infinite

3. Changeable
4. Limited

oS DKo Book) Tog SIS

1. dBo
[©)]
2. €9:50¢€50
3. :,SJDC{) KORID
4, D880

140. The largest producer of Bauxite in the world is

1. Chile
2. America
3. Brazil

4. Australia
(90508 8B ) &YW

1 FEAY))

2. O

3. @85

4, e.—s@oé)m



141. Sun rays fall directly on the tropic of Capricorn on

1. March 21

2. September 23

3. June 21

4, December 22

5088 B ¢S K)?ézgédwm ey deoHr DG S

L 50921
2. gowd 23
3. @21

4.  &owb 22

142. The partition of Bengal happened in
BorrS JzsessS $OAS HOSSS0

1. 1905
2. 1910
3. 1915
4. 1920



143.

144.

Identify the mismatched pair regarding the composition of the
Atmosphere

1.

Nitrogen — 78%

2. Oxygen —21%

3. Carbon dioxide — 0.05%

4. Organ — 0.93%

FPSSEe30 S TAHO 9HOEL 02050 VOTD WD
K580%506

1. S\ B - 78%

Ll

esé‘\)&s - 21%
SN & 56 - 0.05%
&S - 0.93%

As per this Article of our constitution Untouchability has been

abolished

1. Article 16
2. Article 17
3. Article 18
4. Article 21

5o CargoKo S B2 OS50 0T ASI Y AHOoDSO

1.

L

165 Q553
175 9553
185 &85
213 Q583



145.

146.

“In primary stage EVS part-1 and EVS part-2 should be
integrated and taught as EVS.” This is suggested by

1. NCF 2005

2. NEP - 1986

3. Eswari Bhai Patel Committe

4. NEP 2020

“(EDE P2 HOV0 epso-1 HOCHN DOVC

Dep0-2 O b§§o)e§o 3 $OIo°e JegSon FHoTo”
090 VIPW0WIR.

1. NCF 2005

NEP — 1986

e aran SEBS e

L

NEP 2020

The second logical step in scientific method
I. Collecting data related to problem

2. Defining and analyzing the problem
3. Identifying the problem

4. Formulating hypothesis

T(QE0 HEBS To&S SO Y FIS0

1. é;ﬁoé§§> D02080DS DITTE DES
RR0g AN, DFN0IE0

™
Qg K800

L

Za8§®o)‘6 EPo80S5E0



147. The assessment usually done before the beginning of the
teaching learning process

1. Formative evaluation
2. Summative evaluation
3. Diagnostic evaluation
4. Intelligence test

D0 ETFOS BE (FE0HOTEAS 5206 T
:,Smep§o§aso

1. Qo &wé &§ m@§o§50

2. Kvo@ﬁt&wé &5 ;535°e5°§o§:60
3. S ATes SarergoES0
4. (dep 90F
SOCIAL METHODOLOGY

148. The second step of ‘field trip’ is

1. Evaluation

2. Readiness

3. Planning

4. Implementation

S 9’ & Boss Frso
1. ;535°e7>§o§:\50

2 Kvag;’mi»

3. (PETDE

4 900 VW&o



149. This approach goes from known to the unknown things
1. Analytic

2. Inductive
3. Synthetic
4. Deductive
SO AT 008 BOVS IACTOH BROWIF) SHF)F0

1. FAETS &§
™

2. €3K353<U°Q§&§

3. DOFAETS 38
™

4, K)K:Somé&é

150. Number of tools in the Formative Assesment
REBE P meﬁ§o§5oé’s Ko JSToen

1. 2
3
4
5

T



